The group G is isomorphic to the group labelled by [ 32, 11 | in the Small Groups library.
Ordinary character table of G = (C4 x C4) : C2:

la 4a 2a 4b 2b 4c 2c¢ 4Ad 8a 8b de 4f 4g 4h
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
X2 1 1 1 1 1 1 1 1 -1 -1 -1 -1 -1 -1
X3 1 1 1 1 1 1 -1 -1 1 1 -1 -1 -1 -1
X4 1 1 1 1 1 1 -1 -1 -1 -1 1 1 1 1
x5 | 2 2 2 2 -2 =2 0 0 0 0 0 0 0 0
xe | 1 -1 1 -1 -1 1 1 -1 EM4) -E4 E(4) —E(4) E(4) —E(4)
x7r | 1 -1 1 -1 -1 1 -1 1 —-E@4) E@{ E(4) —E(4) E(4) —E(4)
xs | 1 -1 1 -1 -1 1 -1 1 E(4) -—-E4) —FE(4) E4) —E(4) E4)
xo | 1 -1 1 -1 -1 1 1 -1 —E() E®@4) —E(4) E4) —E(4) E(4)
X10 | 2 -2 2 -2 2 =2 0 0 0 0 0 0 0 0
Xx11| 2 2xE4) -2 —-2xE4) 0 0 0 0 0 0 1+E4) -14E4) —-1-E4) 1-E®4)
X2 | 2 —-2xFE(4) -2 2xE(4) 0 0 0 0 0 0 1-E4) -1-E4) —-14+EH4) 1+E®4)
Xi3| 2 2xEM4) -2 —2xFE@4) 0 0 0 0 0 0 —-1-E(4) 1-E4) 1+E4) -1+E4)
X4 | 2 —2xEM4) -2 2xE(4) 0 0 0 0 0 0 -1+ E(4) 1+E4) 1-FE(4) -1-E4)
Trivial source character table of G = (C4 x C4) : C2 at p = 2:
Normalisers IV; N1y | No | N3 | Ny | N5 | Ng | Ny | Ng| Ng | Nig| Ni1 | Nia | N1z | Nia | Nis | Nig | N1z | Nig | N1g | Nog | Noy | Nao
p—subgroups of G up to conjugacy in G P1 Pg P3 P4 P5 PG P7 PS Pg P10 P11 P12 P13 P14 P15 P16 P17 P18 P19 P20 P21 P22
Representatives n; € N; la | la | 1la | la | 1a | 1la | 1la | 1la | la | la la la | 1la | 1la | 1la | 1la | 1la | 1la | 1la | la | la | la
1-xa+1-xo+1-xa+1-xa+2-x5+1-x6+1-x7+1-xs+1-x90+2-x10+2-x11+2-xX12+2-x13+2-x14| 32| 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x24+1-x34+1-xa+2-x5+1-x6+1-x7+1-xs+1-x0+2-x10+0-x11+0-x12+0-x13+0-x1416 16| O | O | O | O] 0| 0O 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xi+1-xo4+1-xa+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+2-x10+1-x11+1-xi2+1-x13+1-x14] 16| O 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T-x1+1-x2+0-x3+0-x4a+1-x5+1-x6+0-x7+0-xs+1-x90+1-x0+1-x11+1-x12+1-x13+1-x14| 16 | O 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-xva+1l-xo+1-x3+1-xa+2-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x114+0-x12+0-x13+0-x14| 8 8 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-xi1+1-xo+1-x3+1-x4+0-x5+1-x6+1-x7+1-xs+1-xo+0-x10+0-x11+0-x12+0-x13+0-x14]| 8 81 000|801 07]O0 0 0 0 0 0 0 0 0 0 0 0 0 0
l-xva+1-xo+1-x3+1-x4a+0-x5+0-x6+0-x7+0-x8+0-x90+2-X10+0-x114+0-x12+0-x13+0-x14| 8 8 8 0 0 0 8 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-xa4+1-x5+1-x6+0-x7+0-xs+1-xo+1-x10+0-x11+0-x12+0-x13+0-x14]| 8 81 0|4 [0]0 |0 4]O0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+1-x24+0-x34+0-xa+1-x5+0-x¢6+1-x7+1-xs+0-xo+1-x10+0-x11+0-x124+0-x13+0-x14| 8 8 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+0-x3+1-x4+0-x5+0-x6+0-x7+0-xs+0-xo+1-x0+1-x11+1-x12+0-x13+0-x14]| 8 0} 4]0[0]00}|07]O0 4 0 0 0 0 0 0 0 0 0 0 0 0
1-xv1+0-x2+0-x3+1-x4a+0-x5+0-x64+0-x74+0-x8+0-x90+1-x10+0-x11+0-x12+1-x13+1-x14| 8 0 4 0 0 0 0 0 0 0 4 0 0 0 0 0 0 0 0 0 0 0
1-xi+1-xo4+1-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-X13+0-x14| 4 | 4 | 4|0 | 4] 4|4 |0]0 0 0 4 0 0 0 0 0 0 0 0 0 0
1-x14+1-x24+0-x34+0-xa+1-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14| 4 4 0 2 4 0 0 2 2 0 0 0 2 0 0 0 0 0 0 0 0 0
T-x1+1-x2+0-x3+0-x4+0-x5+1-x6+0-x7+0-xg+1-X0+0-x10+0-x11+0-x12+0-x13+0-x14| 4 | 4] 0| 4|0 |4 |0] 4]0 0 0 0 0 4 0 0 0 0 0 0 0 0
1-xvi+1-x2+0-x34+0-x44+0-x5+0-x6+1-x7+1-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14 | 4 4 0 0 0 4 0 0 4 0 0 0 0 0 4 0 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-xo+1-x10+0-x11+0-x12+0-x13+0-x14| 4 | 4 | 4|2 ]0]0 ] 4] 2|2 0 0 0 0 0 0 2 0 0 0 0 0 0
1-x1+0-x2o+1-x3+0-x4a+1-x5+0-x64+0-x74+0-x8+0-x90+0-x10+0-x11+0-x12+0-x13+0-x14 | 4 4 0 0 4 0 0 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0
1-x1+0-x2+0-x3+1-x4+0-x5+0-x6+0-x7+0-x8+0-xo+1-Xx10+0-x11+0-Xx12+0-x13+0-x14| 4| 4|4 ]0]0 [0 | 4)|0]0 2 2 0 0 0 0 0 0 2 0 0 0 0
1-x1+1-x24+0-x34+0-x4a+0-x5+0-x6+0-x74+0-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14| 2 2 2 2 2 2 2 2 2 0 0 2 2 2 2 2 0 0 2 0 0 0
1-x1+0-x2+1-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x90+0-Xx10+0-x11+0-Xx12+0-x13+0-x14| 2 | 2|2 ]0 ]2 |2 |2)|0]0 0 0 2 0 0 0 0 2 0 0 2 0 0
1-x14+0-x24+0-x34+1-x4+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x124+0-x13+0-x14| 2 21210 2 212]101]0 2 2 2 0 0 0 0 0 2 0 0 2 0
1-x14+0-x24+0-x34+0-x4a4+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
P, = Group([()]) =2 1
P, = Group([(1,6)(2,10)(3,13)(4, 15)(5,16)(7,19)(8,21)(9,22)(11, 24)(12,25)(14, 26)(17, 28) (18, 29)(20, 30)(23, 31)(27, 32)]) = C2
P; = Group([(1,14)(2,20)(3,23)(4,16)(5, 15)(6,26)(7,27)(8,22)(9, 21)(10,30)(11,25)(12,24)(13,31)(17,29)(18,28)(19, 32)]) = C2
P, = Group([(1,3)(2,7)(4,24)(5,12)(6, 13)(8,28)(9, 18)(10,19)(11, 15)(14, 31)(16, 25)(17, 21)(20, 32)(22, 29)(23, 26)(27, 30)]) = C2
Ps = Group([(1,6)(2, 10)(3,13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25)(14, 26)(17, 28) (18, 29)(20, 30) (23, 31)(27, 32), (1, 5,6, 16)(2, 9, 10, 22)(3, 12, 13, 25) (4, 14, 15, 26) (7, 18, 19, 29)(8, 20, 21, 30) (11, 23, 24, 31)(17, 27, 28, 32)]) = 4
Py = Group([(1,6)(2,10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24)(12, 25) (14, 26) (17, 28) (18, 29)(20, 30) (23, 31)(27. 32), (1, 4.6, 15)(2. 8, 10, 21)(3, 11, 13, 24)(5. 14 16, 26)(7, 17, 19, 28)(9, 20, 22, 30)(12, 23, 25, 31)(18, 27, 29, 32)]) = C
P; = Group([(1,6)(2,10)(3,13)(4, 15)(5,16)(7,19)(8,21)(9,22)(11, 24)(12,25)(14, 26)(17, 28) (18, 29)(20, 30)(23, 31)(27, 32), (1, 14)(2, 20)(3, 23)(4, 16)(5, 15) (6, 26)(7, )( ,22)(9,2 )(10,30)(11,25)(12,24)(13,31)(17, 29)(18,28)(19,3 )]) C2x C2
Py = Group([(1,6)(2,10)(3,13)(4, 15)(5,16)(7,19)(8,21)(9,22)(11, 24)(12,25)(14, 26)(17, 28) (18, 29)(20, 30)(23, 31)(27, 32), (1, 3)(2,7)(4,24)(5, 12)(6, 13)(8, 28)(9, 8)(10 19)( 1,15)(14,31)(16,25)(17,21)(20, 32)(22,29)(23,26)(27, 3 )]) C2x C2
Py = Group([(1,6)(2,10)(3,13)(4,15)(5,16)(7,19)(8,21)(9,22)(11, 24)(12, 25)(14, 26)(17, 28)(18, 29)(20, 30) (23, 31)(27, 32), (1, 12,6, 25)(2, 18,10, 29)(3, 5, 13, 16) (4, 31, 15, 23)(7, 9, 19, 22)(8, 32, 21, 27) (11, 26, 24, 14) (17, 30, 28,20)]) = C
Py = Group([(1,17,14,29)(2, 23, 20, 3)(4, 19, 16, 32)(5, 27, 15, 7)(6, 28, 26, 18)(8, 25, 22, 11)(9, 24, 21, 12)(10, 31, 30, 13), (1, 14)(2, 20)(3, 23)(4, 16)(5, 15)(6, 26) (7, 27)(8,22)(9 21)(10 30)(11,25)(12,24)(13,31)(17,29)(18,28)(19, 32)]) = C4
Pi1 = Group([(1, 28, 14, 18)(2, 31, 20, 13)(3, 10, 23, 30) (4, 7, 16,27)(5,32 15,19)(6, 17, 26, 29)(8,12,22,24)(9,11,21,25),(1,14)(2,20)(3,23)(4, 16)(5, 15)(6, 26)(7, 27)(8, 22)(9, 21)(10, 30)(11, 25)(12, 24)(13, 31)(17, 29)(18, 28)(19, 32)]) = C4
Py5 = Group([(1,6)(2,10)(3,13)(4,15)(5,16)(7,19)(8,21)(9, 22)(11, 2 )(12 25)(14, 26)(17, 28)(18,29)(20, 30)(23,31)(27,32), (1,4,6,15)(2,8,10,21)(3, 11, 13,24)(5, 14, 16, 26)(7, 17,19, 28)(9, 20,22, 30)(12, 23, 25, 31)(18, 27, 29, 32), (1, 5,6, 16)(2,9, 10, 22)(3, 12, 13, 25)(4, 14, 15, 26)(7, 18, 19, 29)(8, 20, 21, 30) (11, 23, 24, 31) (17,27, 28, 32)]) = C4 x C2
Pi3 = Group([(1,6)(2,10)(3,13)(4,15)(5,16)(7,19)(8,21)(9,22)(11, 24)(12,25)(14,26)(17, 28)(18, 29)(20, 30)(23, 31)(27, 32), (1, 3)(2, 7)(4, 24)(5, 12)(6, 13)(8, 28)(9, 18 )(10 19)(11,15)(14,31)(16,25)(17,21)(20, 32)(22 29)(23 26)(27,30),(1,5,6,16)(2,9,10,22)(3,12,13,25)(4, 14, 15,26)(7, 18,19, 29)(8, 20, 21, 30) (11, 23,24, 31)(17, 27,28, 32)]) = C4 x C2
Py = Group([(1,6)(2,10)(3,13)(4, 15)(5,16)(7,19)(8,21)(9,22)(11,24)(12,25)(14,26)(17, 28)(18,29)(20, 30)(23, 31)(27, 32), (1, 3)(2, 7)(4, 24)(5, 12)(6, 13)(8,28)(9, 18)(10,19)(11, 15)(14, 31)(16, 25) (17, 21)(20, 32)(22, 29)(23, 26) (27, 30), (1, 4, 6, 15)(2, 8,10, 21)(3, 11, 13,24)(5, 14, 16,26)(7, 17, 19, 28)(9, 20, 22, 30)(12, 23, 25, 31)(18, 27, 29, 32)]) =
P15 = Group([(1,6)(2,10)(3,13)(4,15)(5,16)(7,19)(8,21)(9,22)(11,24)(12, 25)(14, 26)(17, 28)(18, 29)(20, 30)(23, 31)(27, 32), (1,12, 6, 25)(2, 18, 10,29)(3, 5, 13, 16)(4, 31, 15, 23)(7,9, 19, 22)(8, 32, 21, 27) (11, 26, 24, 14)(17, 30, 28, 20), (1, 4, 6, 15)(2, 8,10,21)(3, 11,13, 2 )(5 14,16,26)(7,17,19, 28)(9, 20, 22, 30)(12, 23, 25, 31)(18, 27, 29, 32)]) = Q8
Pio = Group([(1,6)(2, 10)(3,13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22)(11, 24) (12, 25)(14, 26)(17, 28) (18, 29) (20, 30) (23, 31)(27, 32), (1, 3) (2, ) (4, 24) (5, 12) (6, 13)(8, 28)(9, 18)(10, 19)(11, 15)(14, 31)(16, 25)(17, 21)(20, 32)(22, 20)(23, 26) (27, 30), (1, 14) (2, 20)(3, 23) (4, 16)(5, 15)(6, 26)(7, 27)(8, 22)(9, 21)(10, 30)(11, 25) (12, 24)(13, 31)(17, 29) (18, 28)(19, 32)]) = D&
Pi7 = Group([(1,6)(2,10)(3,13)(4,15)(5,16)(7,19)(8,21)(9, 22)(11, 24)(12, 25)(14, 26) (17, 28) (18, 29) (20, 30) (23, 31)(27, 32), (1, 2,5,9, 6, 10, 16, 22)(3, 17, 12,27, 13, 28, 25, 32) (4, 21, 14, 30, 15, 8, 26, 20)(7, 23, 18, 24, 19, 31, 29, 11), (1, 5, 6, 16) (2,9, 10, 22)(3, 12,13, 25) (4, 14, 15, 26)(7, 18, 19, 29)(8, 20, 21, 30)(11, 23, 24, 31)(17, 27, 28, 32)]) = C8
Pig = Group([(1,6)(2,10)(3,13)(4,15)(5,16)(7,19)(8,21)(9,22) (11, 24)(12,25)(14, 26)(17, 28)(18, 29)(20, 30)(23, 31)(27, 32), (1, 17, 14, 29)(2, 23, 20, 3)(4, 19, 16, 32)(5, 27, 15, 7)(6, 28, 26, 18)(8, 25,22, 11)(9, 24, 21, 12)(10, 31, 30, 13), (1, 14)(2, 20)(3, 23)(4, 16) (5, 15) (6, 26)(7 27)(8,22)(9,21)(10,30)(11,25)(12,24)(13,31)(17,29)(18,28)(19, 32)]) = C4 x C2
Pig = Group([(1,6)(2,10)(3,13)(4,15)(5,16)(7,19)(8,21)(9,22)(11,24)(12,25)(14,26)(17, 28)(18, 29)(20, 30)(23, 31)(27, 32), (1,4, 6, 15)(2,8,10,21)(3, 11,13, 24)(5, 14,16, 26)(7, 17,19, 28)(9, 20, 22 30)(12,23,25,31)(18,27, 29,32),(1,5,6,16)(2,9,10,22)(3,12,13,25)(4, 14, 15,26)(7, 18,19, 29)(8, 20, 21, 30)(11, 23,24, 31)(17, 27, 28, 32), (1, 3) (2, 7)( ,24)(5,12)(6,13)(8,28)(9,18)(10,19)(11,15)(14,31)(16,25)(17,21)(20, 32)(22,29)(23,26)(27,30)]) = (C4 x C2) : C2
Py = Group([(1,6)(2,10)(3,13)(4,15)(5,16)(7,19)(8,21)(9,22)(11,24)(12, 25)(14, 26)(17, 28)(18, 29)(20, 30)(23, 31)(27, 32), (1,4, 6, 15)(2, 8,10, 21)(3, 11, 13,24)(5, 14, 16, 26)(7, 17,19, 28)(9, 20, 22, 30) (12, 23, 25, 31)(18, 27, 29, 32), (1, 5, 6, 16)(2,9, 10, 22)(3, 12, 13, 25) (4, 14, 15, 26)(7, 18, 19, 29)(8, 20, 21, 30)(11, 23, 24, 31)(17, 27, 28, 32), (1, 2,5,9, 6, 10, 16, 22)(3, 17,12, 27,13, 28, 25, 32) (4, 21, 14, 30, 15, 8, 26, 20)(7, 23, 18,24, 19, 31,29,11)]) = C8 : C2
Pa1 = Group([(1, 6)(2,10)(3,13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22)(11, 24)(12, 25)(14, 26)(17, 28)(18, 29)(20, 30)(23, 31)(27, 32), (1,4, 6,15)(2, 8, 10, 21)(3, 11, 13, 24)(5, 14, 16, 26)(7, 17, 19, 28)(9, 20, 22, 30) (12, 23, 25, 31)(18, 27, 29, 32), (1,5, 6, 16)(2, 9, 10, 22)(3, 12, 13, 25) (4, 14, 15, 26)(7, 18, 19, 29)(8, 20, 21, 30) (11, 23, 24, 31)(17, 27, 28, 32), (1, 17, 14, 29)(2, 23, 20, 3)(4, 19, 6 32)(5,27,15,7)(6, 28 26, 18)(8, 25,22, 11)(9, 24, 21, 12)(10, 31, 30, 13)]) = C4 x C4
Pas = Group([(1,6)(2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25) (14, 26) (17, 28) (18, 29)(20, 30)(23, 31)(27,32). (14,6, 15)(2,8. 10, 21)(3, 11, 13, 24) (5, 14, 16, 26)(7, 17, 19, 28)(9, 20, 22. 30)(12, 23, 25. 31)(18, 27,29, 32). (1. 5,6, 16)(2, 9, 10, 22)(3, 12, 13, 25)(4. 14, 15, 26)(7, 18, 19, 29)(8, 20, 21, 30)(11, 23, 24, 31)(17. 27, 28, 32). (1, 3)(2, ) (4, 24) (5, 12) (6, 13)(8, 28)(9, 18)(10, 19)(11, 15)(14, 31)(16, 25) (17, 21)(20, 32)(22, 29)(23, 26)(27, 30), (1,2, 5,9, 6, 10, 16, 22)(3, 17, 12, 27, 13, 28, 25, 32) (4, 21, 14, 30, 15, 8, 26, 20)(7, 23, 18, 24, 19,31, 20, 11)]) = (C4 x C4) : C2
N, = Group([(1,2,5,9, 6,10, 16,22)(3,17,12, 27,13, 28, 25, 32)(4, 21, 14, 30, 15, 8, 26, 20)(7, 23, 18,24, 19, 31,29, 11), (1, 3)(2, 7) (4, 24)(5, 12) (6, 13)(8,28)(9, 18) (10, 19) (11, 15)(14, 31)(16, 25) (17, 21)(20, 32)(22, 29)(23, 26) (27, 30), (1, 4, 6, 15)(2, 8,10, 21)(3, 11, 13,24)(5, 14, 16,26)(7, 17, 19, 28)(9, 20, 22, 30)(12, 23, 25, 31)(18, 27, 29, 32), (1, 5, 6, 16)(2, 9, 10, 22) (3, 12, 13, 25) (4, 14, 15, 26) (7, 18, 19, 29)(8, 20, 21, 30) (11, 23, 24, 31)(17, 27, 28, 32), (1,6)(2, 10)(3, 13) (4, 15)(5, 16)(7,19)(8,21)(9,22)(11, 24) (12, 25)(14, 26)(17,28)(18, 29)(20, 30)(23, 31)(27,32)]) = (C4 x C4) : C
Ny = Group([(1,2,5,9,6,10,16,22)(3,17,12, 27, 13 28,25, 32)(4,21,14, 30,15, 8,26, 20)(7, 23,18, 24,19, 31,29, 11), (1, 3)(2,7) (4, 24) (5, 12) (6, 13) (8, 28)(9, 18)(10, 19)(11, 15)(14, 31)(16, 25) (17, 21)(20, 32) (22, 29)(23, 26) (27, 30), (1, 4, 6,15)(2, 8,10, 21)(3, 11, 13, 24)(5, 14, 16, 26)(7, 17, 19, 28)(9, 20, 22, 30) (12, 23, 25, 31)(18, 27, 29, 32), (1, 5, 6, 16) (2,9, 10,22)(3, 12,13, 25)(4, 14, 15,26)(7, 18, 19, 29)(8, 20, 21, 30) (11, 23, 24, 31)(17, 27, 28, 32), (1,6)(2, 10)(3, 13)(4, 15)(5,16)(7,19)(8,21)(9, 22) (11, 24) (12, 25) (14, 26) (17, 28)(18, 29)(20, 30)(23, 31)(27, 32)]) = (C4 x C4) : C2
N3 = Group([(1,14)(2,20)(3,23)(4,16)(5,15)(6,26)(7,27)(8,22)(9, 2 )(10,30)(11725)(12,24)(13,31)(17, 29)(18,28)(19,32),(1,5,6,16)(2,9,10,22)(3,12,13,25)(4, 14, 15,26)(7, 18, 19, 29)(8, 20, 21, 30)(11, 23, 24, 31)(17, 27, 28, 32), (1, 6)(2, 10)(3, 13) (4, 15) (5, 16) (7, 19)(8,21)( ,22)(11, 24)(12 25)(14 26)(17,28)(18,29)(20,30)(23,31)(27,32), (1, 18,14, 28)(2, 13, 20, 31)(3, 30, 23,10)(4, 27, 16, 7)(5, 19, 15732)(6729726,17)(8,24,22,12)(9,25,21,11)]) ~ C4xC4
Ny = Group([(1,3)(2,7)(4, 24)(5, 12) (6, 13)(8, 28)(9, 18)(10, 19)(11, 15)(14, 31)(16, 25)(17, 21)(20, 32)(22, 20)(23, 26) (27, 30), (1, 5.6, 16)(2, 9, 10, 22)(3, 12, 13, 25)(4, 14, 15, 26)(7, 18, 19, 20)(8. 20, 21, 30)(11, 23, 24, 31)(17, 27, 28, 32), (1, 6)(2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24)(12, 25) (14, 26) (17, 28) (18, 29)(20, 30) (23, 31)(27, 32)]) = C4 x C2
N5 = Group([(1,5,6,16)(2,9,10,22)(3,12,13,25)(4, 14, 15,26)(7, 18,19, 29)(8, 20, 21, 30)(11, 23, 24, 31)(17, 27, 28, 32), (1, 6)(2, 10) (3, 13) (4, 15) (5, 16)(7, 19)(8,21)(9,22)(11,24)(12 25)( 2 )(17,28)(18,29)(20,30)(23,31)(27 32),(1,2,5,9,6,10,16,22)(3,17,12, 27, 13,28,25,32)(4,21 14, 30,15, 8, 26, 20)(7,23,18,24,19,31,29,11), (1, 3)(2, 7)(4,24) (5, 12)(6, 13)(8, 28)(9, 18)(10, 19)(11, 15)(14, 31)(16, 25)(17, 21)(20, 32)(22, 29)(23, 26)(27,30)]) = (C4 x C4) : C2
Ng = Group([(1,4,6,15)(2,8,10,21)(3,11,13,24)(5, 14, 16,26)(7,17, 19, 28)(9, 20, 22, 30)(12, 23, 25, 31)(18, 27, 29, 32), (1,6)(2, 10)(3, 13)(4, 15)(5, 16)(7,19)(8, 21)(9, 22)(11, 24) (12, 25) (14, 26)(17, 28)(18, 29)(20, 30)(23, 31)(27, 32), (1,2, 5,9, 6, 10, 16,22)(3,17, 12,27, 13, 28, 25, 32) (4, 21, 14, 30, 15, 8, 26, 20)(7, 23, 18, 24, 19, 31,29, 11), (1, 3)(2, 7)(4, 24) (5, 12)(6, 13)(8,28)(9, 18)(10, 19)(11, 15)(14,31)(16,25)(17 21)(20, 32)(22,29)(23,26)(27,30)]) = (C4 x C4) : C2
N7 = Group([(1,14)(2,20)(3,23)(4, 16)(5, 15)(6, 26)(7, 27)( ,22)(9,21)(10,30)(11,25)(12,24)(13,31)(17, 29)(18728)(19,32),(1,6)(2, 10)(3,13)(4,15)(5,16)(7,19)(8,21)(9,22)(11 24)(12 25)(14,26)(17, 28)(18,29)(20, 30)(23, 31)(27,32), (1,2, 5,9, 6, 10,16,22)(3,17,12,27, 13, 28, 25, 32)(4, 21, 14, 30, 15, 8, 26, 20)(7 23,18,24,19,31,29,11), (1,3)(2,7)(4,24)(5,12)(6,13)(8,28)(9, 18)(10,19)(11, 15)(14, 31)(16, )(17721)(20,32)(22,29)(23 26)(27,30)]) = (C4 x C4) : C2
Ng = Group([(1,3)(2,7)(4,24)(5,12)(6, 13)(8, 28)(9, 18)(10, 19)( 1,15)(14,31)(16,25)(17, 21)(20, 32)(22, 29)(23, 26)(27, 30), (1,6)(2,10)(3,13)(4, 15)(5,16)(7,19)(8,21)(9, 22)(11, 24)(12, 25)(14, 26)(17, 28)(18, 29)(20, 30)(23, 31)(27, 32), (1,4, 6,15)(2, 8,10, 21)(3, 11, 13, 24)(5, 14, 16, 26) (7, 17 19,28)(9, 20, 22, 30)(12, 23,25 31)(18 27,29, 32),(1,5,6,16)(2,9,10,22)(3,12,13,25)(4, 14, 15,26)(7, 18,19, 29)(8, 20, 21, 30)(11, 23, 24, 31)(17,27,28,32)]) = (C4 x C2) : C2
Ny = Group([(1,12,6,25)(2, 18, 10,20)(3,5, 13, 16)(4, 31, 15, 23)(7, 9, 19, 22)(8, 32, 21, 27)(11, 26, 24, 14)(17, 30, 28, 20), (1, 6)(2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24)(12, 25) (14, 26)(17, 28) (18, 20)(20, 30)(23, 31)(27, 32), (1, 3)(2, 7)(4, 24)(5, 12)(6, 13)(8, 28)(9, 18)(10, 19)(11, 15)(14, 31)(16, 25)(17, 21)(20, 32)(22, 20)(23, 26) (27, 30), (1. 4. 6, 15)(2. 8, 10, 21)(3, 11, 13, 24)(5, 1, 16, 26)(7, 17, 19, 28)(9, 20, 22, 30) (12, 23, 25, 31)(18, 27, 29, 32)]) = (C4 x C2) : C2
Nyg = Group([(1,17,14,29)(2, 23, 20, 3)(4, 19, 16, 32) (5, 27, 15, )(6 28,26,18)(8,25,22,11)(9, 24, 21, 12)(10,31, 30,13), (1,14)(2,20)(3,23)(4,16)(5, 15)(6,26)(7,27)(8,22)(9,21)(10,30)(11, 25)(12, 24)(13, 31)(17,29)(18, 28)(19, 32), (1,4, 6,15)(2, 8, 10,21)(3, 11, 13,24)(5, 14, 16, 26) (7, 17, 19, 28)(9, 20, 22, 30) (12, 23, 25, 31)(18, 27,29, 32)]) = C4 x C4
N11 = Group([(1, 28,14, 18)(2, 31, 20, 13)(3, 10, 23,30)( 7,16, 27)(5,327 15,19)(6,17,26,29)(8,12,22,24)(9,11,21,25), (1, 14)(2, 20)(3,23)(4, 16)(5, 15)(6,26)(7,27)(8,22)(9, 21)(10,30)(11, 25)(12,24)(13,31)(17,29)(18,28)(19, 32), (1,4, 6, 15)(2, 8, 10,21)(3, 11, 13,24)(5, 14, 16,26)(7, 17, 19, 28)(9, 20, 22, 30)(12, 23, 25, 31)(18, 27,29, 32)]) = C4 x C4
Ni2 = Group([(1,5,6,16)(2,9,10,22)(3,12,13,25)(4, 14, 15, 26)(7, 18,19,29)(8,20,21,30)(11,23,24,31)(17,27,28,32), (1,4, 6, 15)(2,8,10,21)(3, 11, 13,24)(5, 14, 16,26) (7,17, 19, 28)(9, 20, 22, 30)(12, 23, 25, 31)(18, 27, 29, 32), (1,6)(2, 10)(3, 13)(4, 15)(5, 16)(7,19)(8,21)(9,22)(11, 24)(12, 25)(14, 26)(17,28)(18, 29)(20, 30)(23, 31)(27, 32), (1,2, 5,9, 6, 10, 16,22)(3,17, 12,27, 13, 28, 25, 32) (4, 21, 14, 30, 15, 8, 26, 20)(7, 23, 18, 24, 19, 31,29, 11), (1, 3)(2, 7)(4, 24) (5, 12)(6, 13)(8, 28)(9, 18)(10, 19)(11, 15)(14, 31)(16, 25)(17,21)(20, 32)(22, 29)(23, 26)(27,30)]) = (C4 x C4) : C2
N3 = Group([(1,5,6,16)(2,9, 10, 22)(3,12, 13, 25)(4, 14, 15,26)(7, 18, 19, 29)(8, 20, 21, 30)(11, 23, 24, 31)(17, 27, 28, 32), (1, 3)(2, 7) (4, 24) (5, 12) (6, 13)(8, 28)(9, 18)(10,19)(11, 15) (14, 31)(16, 25) (17, 21)(20, 32) (22, 29)(23 26)(27,30), (1,6)(2,10)(3,13)(4,15)(5,16)(7,19)(8,21)(9,22)(11,24)(12,25)(14,26)(17,28)(18,29)(20, 30)(23, 31)(27, 32), (1,4, 6, 15)(2, 8, 10, 2 )(3711 13,24)(5,14,16,26)(7,17, 19, 28)(9, 20, 22, 30)(12, 23, 25, 31) (18, 27, 29, 32)]) (C4xC2): C2
Ny = Group([(1,4,6,15)(2,8,10,21)(3, 11, 13,24)(5, 14, 16,26) (7, 17, 19, 28)(9, 20, 22, 30) (12, 23, 25, 31)(18, 27, 29, 32), (1, 3)(2, 7)(4, 24)(5, 12)(6, 13)(8, 28)(9, 18)(10, 19)(11, 15) (14, 31)(16, 25) (17, 21)(20, 32)(22, 29) (23, 26)(27, 30), (1, 6)(2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24)(12, 25) (14, 26)(17, 28) (18, 29)(20, 30)(23, 31)(27, 32), (1, 2, 5,9, 6, 10, 16, 22)(3, 17, 12, 27, 13, 28,25, 32)(4, 21, 14, 30, 15, 8, 26, 20)(7, 23, 18,24, 19, 31,29, 11)]) = (C4 x C4) : C2
Nis = Group([(1,4,6,15)(2,8,10,21)(3, 11,13, 24)(5, 1 4 16, 26)(7, 17,19, 28)(9 ,22,30)(12,23,25,31)(18 27,29,32),(1,12,6,25)(2,18,10,29)(3,5, 13, 16)(4, 31, 15,23)(7,9, 19, 22)(8, 32, 21, 27)(11, 26, 24, 14)(17, 30, 28, 20), (1, 6)(2, 10)(3, 13)(4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25)(14, 26)(17, 28)(18, 29)(20, 30)(23, 31)(27, 32), (1, 2,5, 9,6, 10, 16, 29)(3,17,12, 27, 13, 28, 25, 32) (4, 21, 14, 30, 15, 8, 26, 20) (7, 23, 18, 24, 19,31,29,11)]) ~ (C4x C4): C2
Nig = Group([(1,14)(2,20)(3,23)(4, 16)(5,15)(6,26)(7, )( ,22)(9,2 )( 30)(11,25)(12,24)(13,31)(17, 29)(18 28)( 9,32),(1,3)(2,7)(4,24)(5,12)(6,13)(8,28)(9, 18)(10, 19)(11 15)(14,31)(16,25)(17,21)(20, 32)(22 29)( ,26)(27,30), (1,6)(2,10)(3,13)(4,15)(5,16)(7,19)(8,21)(9,22)(11, 24)(12, 25)(14, 26)(17,28)(18,29)(20, 30)(23, 31)(27, 32), (1,4, 6, 15)(2,8,10,21)(3, 11, 13, 24)(5, 14, 16, 26)(7, 17, 19, 28)(9, 20, 22, 30) (12, 23, 25, 31)(18, 27,29, 32)]) = (C4 x C2) : C2
N7 = Group([(1,2,5,9,6,10,16,22)(3,17,12, 27,13, 28, 25, 32)(4, 1,14, 30 15, 8,26,20)(7 23,18,24,19,31,29,11), (1,5,6,16)(2,9, 10,22)(3,12,13,25)(4, 14, 15,26)(7, 18, 19, 29)(8, 20, 21, 30)(11, 23, 24, 31)(17, 27, 28, 32), (1,6)(2, 10)(3, 13) (4, 15)(5, 16)(7, 19)(8, 21)(9,22)(11, 24) (12, 25) (14, 26)(17, 28)(18,29)(20, 30)(23, 31)(27, 32), (1,4, 6, 15)(2, 8, 10, 21)(3 11,13,24)(5, 14, 16 26)(7,177 19,28)(9, 20, 22, 30)(12, 23, 25, 31)(18, 27,29, 32)]) = C8 : C2
Nig = Group([(1,17,14,29)(2, 23, 20, 3)(4, 19, 16, 32)(5, 27, 15, 7)(6, 28 26, 18)(8,25,22,11)(9, 24, 21 12)(10 31,30, 13),(1,14)(2,20)(3,23)(4,16)(5,15)(6,26)(7,27)(8, 22)(9, 21)(10, 30)(11,25)(12,24)(13,31)(17,29)(18,28)(19, 32), (1,6)(2,10)(3,13)(4, 15)(5,16)(7,19)(8,21)(9,22)(11,24)(12,25)(14, 26) (17, 28)(18,29)(20, 30)(23, 31)(27, 32), (1, 4,6, 15)(2, 8,10,21)(3, 11, 13, 24)(5, 14, 16, 26)(7,17, 19, 28)(9, 20, 22, 30)(12, 23, 25, 31)(18, 27, 29, 32)]) = C4 x C4
Nig = Group([(1,3)(2,7)(4,24)(5,12)(6, 13)(8,28)(9, 18)(10,19) (11, 15)(14, 31)(16, 25)(17, 21)(20 32)(22 29)(23,26)(27,30), (1,5,6,16)(2,9, 10, 22)(3, 12,13, 25)(4, 14, 15, 26)(7, 18, 19, 29)(8, 20, 21, 30)(11, 23, 24, 31)(17, 27, 28, 32), (1,4, 6, 15)(2, 8,10, 21)(3, 11, 13, 24) (5, 14, 16, 26) (7, 17, 19, 28)(9, 20, 22, 30) (12, 23, 25, 31)(18, 27, 29, 32), (1,6)(2, 10)(3, 1 )(4 15)(5, 6)(7, 9)(8,21)(9,22)(11,24)(12,25)(14,26)(17,28)(18,29)(20, 30)(23, 31)(27, 32), (1, 2 5,9,6,10,16,22)(3,17,12,27,13, 28, 25, 32)(4, 21, 14, 30, 15, 8, 26, 20)(7, 23, 18,24,19,31,29,11)]) = (C4 x C4) : C2
Nao = Group([(1,2,5,9, 6, 10, 16,22)(3, 17, 12, 27, 13, 28,25, 32) (4, 21, 14, 30, 15, 8, 26, 20)(7, 23, 18, 24. 19, 31,29, 11), (1, 5,6, 16)(2, 9, 10, 22)(3, 12, 13, 25) (4, 14, 15, 26)(7, 18, 19, 29)(8, 20, 21, 30)(11, 23, 24, 31)(17, 27, 28, 32), (1, 4, 6, 15)(2, 8, 10, 21)(3, 11, 13, 24) (5, 14, 16, 26) (7, 17, 19, 28)(9, 20, 22, 30) (12, 23, 25, 31)(18,27, 20, 32), (1, 6)(2. 10)(3, 13) (4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24)(12, 25)(14, 26)(17, 28)(18, 20)(20, 30)(23, 31)(27, 32), (1, 3)(2. 7) (4, 24 (5, 12)(6, 13)(8, 28)(9, 18)(10, 19) (11, 15) (14, 31)(16, 25) (17, 21)(20, 32) (22, 29)(23, 26)(27, 30)]) = (C4 x C4) : C2
Ny = Group([(1,17,14,29)(2, 23, 20, 3)(4, 19, 16, 32)(5, 27, 15, 7)(6, 28, 26, 18)(8 25,22, 11)(9,24,21,12)(10 31,30,13),(1,5,6,16)(2,9,10,22)(3,12,13,25)(4, 14, 15,26)(7, 18,19, 29)(8, 20, 21, 30)(11, 23,24, 31)(17,27, 28, 32), (1, 4,6, 15)(2, 8,10, 21)(3, 11, 13,24)(5, 14, 16, 26) (7,17, 19, 28)(9, 20, 22, 30)(12, 23, 25, 31)(18, 27, 29, 32), (1, 6)(2, 10)(3, 13) (4, 15)(5, 16)(7, 19)(8, 21)(9, 22) (11, 24) (12, 25) (14, 26)(17, 28)(18, 29)(20, 30)(23, 31)(27, 32), (1, 2, 5,9, 6, 10 16,22)(3,17,12,27,13, 28,25, 32)(4, 21, 14, 30, 15, 8, 26, 20)(7, 23, 18,24, 19,31,29,11)]) = (C4 x C4) : C2
Noo = Group([(1,2,5,9,6,10,16,22)(3,17,12, 27,13, 28, 25, 32)(4, 21, 14, 30, 15, 8, 26, 20)(7, 23,18,24,19, 31,29 11),(1,3)(2,7)(4,24)( ,12)(6,13)(8,28)(9, 18)(10,19)(1 1,15)(14,31)(16,25)(17,21)(20,32)(22,29)(23,26)(277 30), (1,5,6,16)(2,9,10,22)(3,12,13,25)(4, 14, 15,26)(7, 18, 19,29)(8, 20, 21, 30) (11, 23,24, 31)(17, 27, 28, 32), (1,4, 6, 15)(2,8,10,21)(3, 11,13, 24)(5, 14, 16, 26)(7, 17, 19, 28)(9, 20, 22, 30) (12, 23, 25, 31)(18, 27, 29, 32), (1,6) (2, 10)(3, )(4 15)( ,16)(7, 9)( 21)(9,22)(11,24)(12,25)(14,26)(17,28)(18,29)(20, 30)(23,31)(27,32)]) = (C4 x C4) : C2



